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ime : 2 hours

nswer any two questions :

B (Three Year G)
Under 1+1+1 System

2017
GEOGRAPHY (General)
FIFTH PAPER
( Revised New Syllabus )
Full Marks : 50

The figures in the margin indicate full marks.

SECTION—A

nswer any one question :

What do you wunderstand by economic
activity? Classify economic activities into
different sectors and describe their
characteristics. 6+14=20

Discuss the importance of petroleum. Give
an account about the distribution  of
petroleum in the Middle-East countries with
suitable diagram. 6+14=20

SECTION—B

10x2=20

Discuss the geographical factors responsible
for the concentration of paddy cultivation in
the South-East Asian countries.
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Explain the favourable geographical conditions
| for hydroelectric power generation in India.

’ 5. Differentiate between extensive and intensive
farming with suitable examples.

6. Describe the various methods for resource "
conservation.

SECTION—C

7. Write short notes on the following :  2x54
| (a¢) Dry farming
(b) Kharif crop
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(c) Lignite
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( 2) B II (Three Year G)
' Under 1+1+1 System

2. Redraw the given  plan graphica

(square method) from RF 1 :200,000 tg BSc Part-II (General) Practical
RF 1 :400,000. Exam. 2017
“9

/ T | GEOGRAPHY (General)

\( . SIXTH PAPER

RF 1 : 200,000 : | e tl

( Revised New Syllabus )
Differentiate between aerial photograph and

topographical map. e : 3 hours Full Marks : 50

Field Report and Viva voce. + The figures in the margin indicate full marks.

Laboratory Notebook and Viva voce. » (@) The following readings were obtained
' during a closed traverse survey by
prismatic compass. Prepare a fieldbook
and construct a plan on a scale of
1” to 10’ : : 5+8=13

| Lines | Length in feet| Fore-bearing | Back-bearing
AB 30 85° 264°
BC 25 1 187°45’ 8°45'
cD 30 260°30° 79°
DA 25 356°30° 176°

(b) What is ‘closing error’ in a traverse? 2

MR7—800/500 ; R7/500 ( Turn Qver )
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2. Redraw the ' given plan graphi
{square method) from RF 1 :200,000
RF 1 : 400,000,

RF 1 : 200,000

Differentiate between aerial photograph and
topographical map.

Field Report and Viva voce.

I;a'bb}at. ry Notebook and Viva voce. -
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A : SECTION—I

11 FARRe @-c Eﬁi o gl swer any one dquestion :
(®) oz . Divide India into major physiographic
4 divisions and describe the charatteristics of
(%) e i relief features of Northern Himalaya. 5+15=20

()  oFRTR ' ;
M 4 ). Give an account of the socio-economic

- ®) gl - conditions of the Nagas. 20

'SECTION—II °

swer any two questions : 10x2=20

Describe the causes and consequences of
migration of India.

Explain the major factors affecting Indian
climate. :

e . |
7—1490/20 27/ 15 | ( Turn Over )
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Write an account about the distribution ¢ reto—q
non-conventional sources of energy in India;
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Write an account of production _ ey
distribution of petroleum in India. B SRS AREISCT PR @ TR AN I
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